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Graphing Linear Functions _‘_
In order to graph a linear function, you must know two things: ’rhe‘j-n“tlﬁce
and the $‘°§ .
Y-Intercept \
The y-intercept is the point on the graph where the __ 1"\ crosses the 9— &' J .
The y-intercept is represented by the variable and can be found at the point
,% ) ) )
Slope 7 I x
The slope is the constant rate of change of the rise to the run.
The slope is represented by the variable _W\ . If the slope is given to you as a whole
number, you can make it a fraction by putting the number over I
4 Types of Slope
Positive Slope — Negative Slope
( ,(\ P ¢ \ g P _
Positive Slope Q‘:mp'“: Negative Slope
¥ 1 ¥
Examples: -" » —=—or—4 _K t
3 - J
—ord
2 «7 : rd Going down a b
Going up a hill : R bl ETEEEE, =, H
| | :
| :
Zero Slope 7 f\o R oC dsw\ Undefined Slope
‘o Z :H_ Zero Slope Undefined Slope
vanalissrehs i - O X-values are the T3 T
same HEEHEEEEH| o .. T
Goingin a I 1 : Falling off a cliff Y A
straight line (No e o ol (No Horizontal IEEE RN e ]
Vertical Change) i BT Change) . \.\f\c.- ) -
EEEEs HH Vertiead HHH T

WwriteetaN | FHH
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== x =# FERE FEEH
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o
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o
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The rise is the difference in the y-values of two |_Ri>'e -3 RU'L{= 2|
points on a line. . T
The run is the difference in the x-values of two 6_1 Run= 28

=6 dehl

QASL (B4 | oo aine e

The slope of a line is the ratio of rise to run for

any two points on the line.

il :“L\MJ @& x) Jope = 11se _ change iny Roe=1-]

fun = change in x

(Remember that y is the dependent variable and 'g
X is the independent variable.)
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Slope-Intercept Form: y=mx+b

gD - M‘/\-\\')

Step 1: Identify the y-intercept (b) and plot the point (0, b).

tep 2: Use the slope (m) to find a second point: m = % (Remember to make whole

numbers into fractions). You can do this several times.

Step 3: Connect the points.

S My l)
YouTry:y=3x-5

MR
Example: y = 3xX+ 1
e ;

mt
b =1 8

y —int: (0,1) run 3 = go right 3
m = % rse 4 =goup 4
3
rise
slope =

More Practice
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I see you have some graph
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Graphing in Slope-Intercept Form Practice

V-9 W= Cg :
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Graphing in Standard Form
Standard Form: Ax + By = C
Step 1: Convert from standard form to slope-intercept form (solve fory)
Step 2: Follow the same steps from graphing in slope-intercept form (oa. 31

Example: 2x + 6y = 12

2x + 6y = 12
—2x —2x X
by = —2x+12 =2
6y = —2x+12 y —int: (0,2) —
6 L6 1 TR EAR e
y = —gx-l-? m=-—z run +3 = go right 3
4
1 rise—1 down 1
y=—3x+2 M=t = rights 5
8
<10
Practice S
2x + 8y = —24 3x — 2y = =12 A dx—y=
BTy gX's -2y 3% )} - ax TS
— —— — _/— - —
- A2 2297 3%-1 M o - Uy 4
8y TR = % e i LS
3 - - o -1
1
Yz 3%+ 6 Y = dx-1
A '
m=3ve b6 y =tx-|
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Graphing in Standard Form Practice
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Why Did the Cow Want a Divorce?

Graph each equation below. The graph, if extended, ill cross a letter. Look for this letter
in the string of letters near the bottom of the page and CROSS IT OUT each time it
appears. When you finish, write the remaining letfters in the rectangle at the bottom of

the page.
(1) y=-2 (@) x=4 (3) 2x-3y=9
7 7) 7)
G
sy
" = —1G
X B X c N X
rD § d B.
(4) x+2y-4=0 (5) 3x+4y=12 () ex-5y+20=0
Vi yq y
"
u
- X)L i ;C b X
W
3 H ¥ 3
(7) x+3=0 RV =32 @) —2x=2p+5
y Z T AL T
B H 035\ '),"' ,'ly;s
E ~
X . X ) \‘-‘ ES :—\‘I:’LS
A \ j
N H: EF ~

eeI0II®

CSIHGWEHQJFANDAPLBGIU LFGMSIFT@WEFERN

Answer:
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Work for Why Did the Cow Want a Divorce?
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1) 2) 3)
4) 5) 6)
7) 8) 9)
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Math Inventory (MI) Directions

You can access the Ml on any device (desktop, laptop, Ipad, Tablet, etfc.)

Follow this link to the test: https://h 100003989 .education.scholastic.com

Log in information: Username — Student ID
Password — Student ID

Once Logged in Begin your Test.

Submit Scratch work to the Lesson Assignments Tab.
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Math Inventory Tips

» Students can use up to three “skips” without penalty. If your student is
struggling with a question, you can remind them they can skip it. This will not
affect their score.

* The assessment generally takes about 30-40 minutes to complete. If students
need to exit before completing the Math Inventory, they can log out of the
assessment. Their progress will be saved, so they can pick up exactly where they
left off the next time they log in.

* Students will complete a typing warm up, may be given the math fact
screener (dependent on settings chosen by teachers), and some practice test
items.

» Students will answer 25 — 30 multiple-choice questions.

* Each student has a unique test that is different from their peers

* The questions adapt to their level of math understanding
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